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1. w=s frarme e sl See 1x8=8 .
Answer the following as directed :
(a) QNN @F 43 |
Supply is a concept. _
(i) TS
stock
(ii) AT F TGO

flow and stock
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(iii) 4T
~ flow

(iv) ST I8 T
None of the above

( =7 TeTth! Ak Sfereat )

( Choose the correct answer )

() I [ 10% REET @RR T sifFa 14%

P25/19

R W, @ E,

If change in price is 10% and chang;a in
demand is 14%, then Ep is

() T SfEF 2T
more than unity
(i) GFEF FW T3 __
less than unity
(i) «F7 T T3
equal to unity
(iv) 70 %3
zero

( w% T A SRreat )

( Choose the correct answer )

( Continued )
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(c) & TR SIS s FE, @RSl

A consumer is in equilibrium, when

MU, P
0 0. >
MU, PF,

MU, P,

@) 30 <P
MU, F,

. MU, P
fiii) ——% ===
MU, P

(iv) SRS QI8 T
" None of the above

(_@ﬁ%@ﬁt?ﬁ@ﬁ@ )

( Choose the correct answer )

(d) T8 WR 9w @R 9P =

P25/19

The Engel curve for an inferior good

(i) ¥ vge

slopes negative
(i) 4FINF Y&

slopes positive
(iii) VT @Y

is horizontal line
(iv) TFR @

is vertical line

( w% Tat! AR SRiear )

( Choose the correct answer )

o

{ Turn Over )



{e)

(g)

)

P25/19

(4)

TAMA T BN IS BT qIHO T
FIRFA TS oM FE|
(m7 & o5 Bl )

Production function- shows the
technical relationship between input
and output.

( Write True or False )

oo W 7
What is rea! cost?

PR FTS AN JA YR SRS F A?

The concept of opportumty cost is

associated with:
(i) Marshall

(i) Senior "~
(ifi) Knight

(iv) €9 IEGE T
None of them

( ®7 a0t R Sfaear )

( Choose the correct answer )

FHha TS WF v wI-RfsReme
e ToF R |

(%% @ owm Rt )
The relationship between the degree of

monopoly power and price elasticity of
demand is inverse.

( Write True or False )

( Continued )

( 5)

2. o7 b oY Rt ot (R et oifdr) : 4x4=16

Write short notes on the following (any four) :

(@)
(b)
()
()
(e)

3. (a)

(b)

P25/19

iy s fifsziomre!

Cross elasticity of demand
WG @A

Budget line

R Reerisd

Price discrimination

Beotva AiRaTie wmt@ R

Law of variable proportion

GFEHT IHRT @A @A
Supply curve under monopoly

BIRwR v RfeRemet @R Tt T g
T | biReT BB AmfS @hl? 10+1=11

Explain the different methods of
measurement of price elasticity of
demand. Which is the most suitable
measure?

9 / Or

v W RfeRreel wis win Rfsgereer
YRINRH IO W 9 R @
YRR &%y I w4t 7+4=11
Explain the concepts of price elasticity
and income elasticity of demand.

Describe their importance in economic
analysis.

( Turn QOver')
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49 / Or
4. (a) FRUME @ LFAR TRYTS TSGR SRAITS!

aie A Al GRE F9 ) SCSIEN i (b) TREAN AF AREEAR 9T W @R TR
i T SFIgOR ¢oS [ goE 4 ? ‘ Toi$ Qe ¥ L St ‘LACT @@t
8+4=12 eord gt F4 5+6=11

Explain consumer’s equilibrium with
the help of indifference curve approach.

Discuss the relationship between short-
run and long-run average cost curves.

How will a change in consumer’s Explain the L-shaped LAC curve.
income affect his equilibrium?
o3{l / Or
. 6. (a) ToIRRT W@ 7 of afswiet Ixe TferTe
(b) WW AeR oiF ofegem e Awd fmni a4 BN SIF SR SRERTel T
WW,WWWWW@@W o ﬁ‘fﬂw?{'ﬂ,WWl 1+10=11

Iy oSl SYE AT TRTS PGl T 4+8=12
What is normal price? Discuss how the

long-run equilibrium of industry and
firm are ditermined under perfect

Define income effeet and substitution
effect. Explain the income effect in case
of normal, inferior and Giffen goods

competition.
with the help of suitable diagram.
Wy / Or
5. (@) TR dfenm R /7 WSt @R y '
TS B WA AR, IR (b) <FOiA TS MferErs ars e w1 @
Ao S FRRPEA Afeniw SEs 349 | uF Sl e @i i o=,
1+10=11 T T4 11

What is the law of returns to scale?
Discuss increasing, constant and
decreasing returns to scale with the
help of isoquant.

Describe how profit maximizing output
and price are determined in the long
run in a monopoly market.
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7. (@) <FRER et IR AW | TS
GFIfiTR I|IS @EHT Sy W e
B Feld ¥ W, IR0 A IR
Aol IERS ¥ SRRy AfSdItT T
TSR A e FEA? 1+8+2=11
Define monopolistic competion.
[llustrate how a firm in monopolistic
competition determines equilibrium
price and output in the short run. Does a
firm in equilibrium in monopolistic
competition always make supernormal
profit?

q%3 / Or

(b) wﬁwﬁwﬁwmvwaquw
Rorolr GRS W WiT o ey afdrm
PPt F]A 2+9=11

What is oligopoly? Explain the price-
output determination process under
price leadership in oligopoly.
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